log AY/Y)

log (Y/AY)

log (T*) CIELABUS triangle lightness T*

T* YocmL*w - nc=100,

T*CiELaBus =66 (YY) V316 (Y,=18, ,/100<Y<=Y, )
T*N(8,6)=23,T*,(18)=50,T*\(90)=97

R OE SIS, LSS
650,00 §=65,49 D,=-15,49
T*36=22,72,1%,=50,00 \=18

10g[T*/T* ]=0, m,=0,43

1,518
VB8 T Vi=9h

Iog(AY) CIELABU5

tristimulus value difference

Yoc=L* w nc=100,

T*CiELaus =66 (YY) V316 (Y,=18, Y,/ 100<Y<=Y, )
log(dY) = (1/3,0) log[3,0¢,/65)] + [1-(1/3,0)] logY)

-

AY

.

*,=50, dY,=4,58 dY,/Y,=0,2544

dY90—13 293, c ,/—1/3 0=0,33
dY,6=4,58 § -15,498
dv3b_1 o vy gy d\g 4,58 1
1v,=18
YN=36 1 Yy=90

application
range

CIELABuU5

_ tristimulus value sensitivity
SOV Yoc=L*w - nc=100,

T* CiELaus =66 (Y/Y)V3-16  (¥,=18, ¥, /100<Y<=Y, )
log(dY/Y)= log[3,0(Y,/65)] - (1/3,0) log{/Y,)

= (1/3,0) log[3,0¢,/65)] - (1/3,0) log)

s . = . application
+ =50, dYu 4,58 dY,/Y,=0, 2544. ~.range
(dY/Y}g=0,1488=3,0, 14=1/3,0=0,33
(dY/Y)g=0,2544 $=65,49 D,=-15,49
(dY/Y} 50,4342 Y,=18, d\=4,56
1y,=18
Yn=3,6 Yw=90

CIELABUS
tristimulus value contrast

Y=L w nc=100,

T* CiELaus =66 (YY) V316 (¥,=18, Y,/ 100<Y<=Y, )
log(Y/dY)= - log[3,01/,/65)] + (1/3,0) log¥/Y,)

= - (1/3,0) log[3,0¢,/65)] + (1/3,0) log{)

C,=(Y/AY)

1
(Y/dYyo=6,71,y=3,0, 14=1/3,0=0,33
(Y/dY)g=3.92 S,=65,49 D;=-1549 application
(Y/dY} 2,30 Y,=18, dY=4,58 1 range
17,=18

YN=3.6  Yy=90

log (T*/T* ) CIELABUS relative triangle lightness T*/T*,

THT* YocmL*w - nc=100,
T* CiELABuS =66 (/Y3016 (1,718, Y,/100<Y<=Y,0)
T*n(3,6)=23,T*,(18)=50,T*y(90)=97
T*go/T*,=1,98,y=3,0, 1§=1/3,0=0,33
T21dT"~100 §65.49 Dy=-15.49
T#3 ¢ T#,=0,45,1%,=50,0Q ¥;
Iog[T*/T*u]:O m,=0,43
application
' range
1y,=18

Iog(AY/AY )

Yn=3.6  Yyw=90

CIELABUS relative
tristimulus value difference

YocmL*w  nc=100,
T* CiELABuS =66 (YY) 3016 (1,718, Y,/100<Y<=Y,0)
log(dY/dY,) = [1-(1/3,0)] loglf/Y,)

AY/AY,

dYoy/dY,=2,92 y—3 0 14=1/3,0=0,33
Y, g/dY,=1,0Q 49 D,=-15,49
dY5,gdY,=0,34 Y, 18 d\=4.58
* =50, dY,=4,58 dY,/Y,=0, 2544‘ -
log[(dY)(dY),]=0, m=0,66 _
-
-

.
-

1

1 application
1 range

1

Y,=18

log [AYY) I (AYIY),]

YN=3.6  Yw=90

CIELABUS relative

tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

T* CiELABuS =66 (YY) 3016 (Y,=18, Y,/100<Y<=Y,0)
log(dYMI(AYM),] = - (1/3,0) log¥/Y,)

(dY/Y)g/(dY/Y)=0,58,y=3,0, 1§=1/3,0=0,33
(dY/Y)g/(dY/Y)=1,00 s,: 5,49 D,=-15,49
(dYIYyd(dY/Y)=1,70 ¥,=18, dY=4, 58 ication

=

-~
log[(dY/YY(dY/Y),]=0, m/=-0,33
*,=50, dY,=4,58 dY,/Y,=0,2544 |

1y,=18

log [(Y/AY) I (YAY),]

YN=3.6 | Yw=90

CIELABUS relative

tistimulus value contrast
CrlCru=(YIB(YIAY)y Y 21y =100,

T* CiELABuS =66 (YY) 3016 (1,718, Y,/100<Y<=Y,0)
1og[(Y/dY)/(Y/dY) ] = (1/3,0) loglY/Y,)

(Y/dYyo/(Y/dY)=1,70,y=3,0, 1§=1/3,0=0,33
(Y/dY)g/(Y/dY)=1,00 §=65,49 D,=—15,49
(Y/dY} g/(Y/dY)=0,58 Y,=18 dY=4,58
log[(Y/dY)(Y/dY),]=0, m,;=0.33 —.
application
range
v,=18
Yn=36  Yy=90




